

$$\Lambda \cos x - \tan x = 1 \Rightarrow 1 + \tan x = \Lambda \cos x \Rightarrow \frac{1}{\cos x} = \Lambda \cos x \Rightarrow \Lambda \cos x = 1 \quad (1)$$

$$\Rightarrow \cos x = \frac{1}{\Lambda} \Rightarrow \cos x = \frac{1}{r} \Rightarrow \cos x = \cos \frac{\pi}{r} \Rightarrow x = 2k\pi \pm \frac{\pi}{r} \quad [0, \pi]$$

$$k=0 \rightarrow x = \frac{\pi}{r} \quad \checkmark$$

$$k=1 \rightarrow x = \frac{2\pi}{r} \quad \checkmark$$

$$\Delta \sin^2 x + 2 \cos(x) = -2 \rightarrow \Delta \sin^2 x + 2(\cos x + 1) = 0 \quad [-\pi, \pi]$$

$$\Delta \sin^2 x = 0 \rightarrow \sin x = 0 \rightarrow x = -\pi, x = \pi$$

$$\cos x = \frac{1}{r} \rightarrow x = 2k\pi \pm \frac{\pi}{r} \rightarrow x = \frac{2k\pi \pm \pi}{r} \rightarrow \text{جوابان}$$

$$\cos x = \frac{1}{r} \rightarrow \cos x = \frac{1}{r} \rightarrow \cos x = \frac{1}{r}$$

$$2 \sin x \cdot \cos x + \sin x = 1 \Rightarrow \sin x (2 \cos x + 1) = 1$$

$$\sin x (2 \cos x + 1) = 1 \Rightarrow -2 \sin x + 2 \sin x = 1 \Rightarrow \sin x = \frac{1}{2} \Rightarrow \sin x = \sin \frac{\pi}{6}$$

$$\Rightarrow 2x = 2k\pi + \frac{\pi}{6} \rightarrow x = \frac{2k\pi}{2} + \frac{\pi}{12} \quad [0, \pi] \quad k=0 \rightarrow x = \frac{\pi}{12}$$

$$k=1 \rightarrow x = \frac{2\pi}{2} + \frac{\pi}{12} = \pi + \frac{\pi}{12} = \frac{13\pi}{12}$$

$$\frac{1}{\sin(\frac{\pi}{6} + x)} + \frac{1}{\cos(\frac{\pi}{6} + x)} = \frac{1}{\cos x} + \frac{1}{-\sin x} = \frac{-2 \sin^2 x + 1}{-2 \sin x \cos x} = 0$$

$$\sin x = \frac{1}{2} \Rightarrow \sin x = \sin \frac{\pi}{6}$$

$$x_2 - x_1 = \frac{\pi}{6} = \alpha \quad \left\{ \begin{array}{l} x_1 = \frac{\pi}{6} \\ x_2 = \frac{2\pi}{6} \end{array} \right. \rightarrow x = 2k\pi + \frac{\pi}{6} \rightarrow x = k\pi + \frac{\pi}{12}$$

$$\tan 2x = \tan\left(\frac{2\pi}{6}\right) = -\tan \frac{\pi}{6} = -\frac{1}{\sqrt{3}}$$

$$m(\cos x - \sin x) - 2\sqrt{4} \sin 2x = \sqrt{4} \Rightarrow m = ?$$

(3)

$$\cos(x + \frac{\pi}{2}) = \frac{1}{\sqrt{4}} \Rightarrow \frac{\sqrt{4}}{2} \cos x - \frac{\sqrt{4}}{2} \sin x = \frac{\sqrt{4}}{2} (\cos x - \sin x) = \frac{1}{\sqrt{4}} \Rightarrow$$

$$\cos x - \sin x = \frac{1}{\sqrt{4}} = \frac{2\sqrt{4}}{4} = \frac{\sqrt{4}}{2} \quad (1)$$

cos x

$$\cos(2x + \frac{\pi}{2}) = \cos(2x + \frac{\pi}{2}) - 1 = \frac{1}{2} - 1 = -\frac{1}{2} \Rightarrow -\sin 2x = -\frac{1}{2} \Rightarrow$$

$$192 \Rightarrow m \times \frac{\sqrt{4}}{2} - 2\sqrt{4} \times \frac{1}{2} = \sqrt{4} \Rightarrow \frac{\sqrt{4}}{2} m = 2\sqrt{4} \Rightarrow m = 4$$

$$\sin 2x = \frac{1}{2}$$

$$\sin(x + \frac{\pi}{4}) \cdot \cos(x - \frac{\pi}{4}) = 1 \Rightarrow \cos(\frac{\pi}{4} - x) = 1 \Rightarrow \cos(\frac{\pi}{4} - x) = 1$$

$$\frac{\pi}{4} - x = 2k\pi \pm 2\pi$$

$$\frac{\pi}{4} - x = 2k\pi \pm \pi$$

$$\frac{\pi}{4} - x = k\pi \Rightarrow x = \frac{\pi}{4} - k\pi \Rightarrow x = \frac{\pi}{4}$$

$$\sin x + \sqrt{3} \cos x = \sqrt{4} \Rightarrow \sin(x + \frac{\pi}{6}) = \sqrt{4} \Rightarrow \sin(x + \frac{\pi}{6}) = \frac{\sqrt{4}}{2} = \sin \frac{\pi}{3}$$

$$\tan \alpha = \sqrt{3} \Rightarrow \alpha = \frac{\pi}{3}$$

$$x + \frac{\pi}{6} = 2k\pi + \frac{\pi}{3} \Rightarrow x = 2k\pi - \frac{\pi}{6}$$

$$K=0 \Rightarrow x = -\frac{\pi}{6}$$

$$K=1 \Rightarrow x = \frac{11\pi}{6}$$

$$x_1 + x_2 + x_3 = \frac{11\pi}{6} - \frac{\pi}{6} = \frac{10\pi}{6} = \frac{5\pi}{3}$$

$$\sin x \sin(\frac{\pi}{4} - x) = 1 \Rightarrow -\sin x \cos x = 1 \Rightarrow$$

$$\frac{1}{2} \sin 2x = -\frac{1}{2} \Rightarrow \sin 2x = -\frac{1}{2} = \sin \frac{7\pi}{6}$$

$$2x = 2k\pi - \frac{\pi}{6} \Rightarrow x = k\pi - \frac{\pi}{12}$$

$$2x = 2k\pi + \frac{5\pi}{6} \Rightarrow x = k\pi + \frac{5\pi}{12}$$

$$x = \frac{11\pi}{12}, x = \frac{5\pi}{12}, x = \frac{19\pi}{12}$$

$$\frac{40\pi}{12} = \frac{10\pi}{3}$$

9

$$(1 + \cos^2 \alpha)(1 + \cos^2 \alpha)(1 + \cos^2 \alpha) = \frac{1}{\lambda}$$

$$(r \cdot s \alpha)(r \cdot s \alpha)(r \cdot s \alpha) = \frac{1}{\lambda} \Rightarrow (r \cdot s \alpha \cdot \cos \alpha \cdot \cos \alpha) = \frac{1}{4\epsilon}$$

$$\xrightarrow{\div \sin \alpha} \left(\frac{\sin \alpha \cdot \cos \alpha \cdot \cos \alpha}{\sin \alpha} \right)^r = \left(\frac{\frac{1}{\lambda} \sin \alpha}{\sin \alpha} \right)^r = \frac{1}{4\epsilon} \Rightarrow \frac{1}{4\epsilon} \frac{\sin \alpha}{\sin \alpha} = \frac{1}{4\epsilon}$$

$$\sin^r \alpha = \sin^r \lambda \alpha \Rightarrow \frac{1 - \cos 2\alpha}{2} = \frac{1 - \cos 4\alpha}{2} \Rightarrow \cos 2\alpha = \cos 4\alpha \Rightarrow$$

$$2\alpha = 2K\pi \pm 4\alpha \Rightarrow 2\alpha = K\pi \pm 4\alpha \Rightarrow 4\alpha = K\pi \pm 2\alpha \Rightarrow 2\alpha = K\pi \Rightarrow \alpha = \frac{K\pi}{2}$$

$$\xrightarrow{[0, \pi]} \text{Max } \alpha = \frac{K\pi}{2}$$

$$\tan^r \alpha \cdot \tan \alpha = 1 \Rightarrow \tan^r \alpha = \frac{1}{\tan \alpha} = \cot \alpha$$

$$\tan^r \alpha = \tan\left(\frac{\pi}{r} - \alpha\right) \Rightarrow r\alpha = K\pi + \frac{\pi}{r} - \alpha \Rightarrow \epsilon \alpha = K\pi + \frac{\pi}{r}$$

do not cut to tan
! cut to 1
sin x to
cos x to

$$\alpha = \frac{K\pi}{\epsilon} + \frac{\pi}{\lambda}$$

$$K=1 \rightarrow \alpha = \frac{9\pi}{\lambda}, K=2 \rightarrow \alpha = \frac{11\pi}{\lambda}, K=4 \rightarrow \alpha = \frac{13\pi}{\lambda}, K=5 \rightarrow \alpha = \frac{15\pi}{\lambda}$$

$$\Rightarrow \frac{6\pi}{\lambda} = 4\pi$$